Series 1010 Old Style Deadlocks

Series 1010 Old Style Deadlocks are lever
tumbler, mechanical locks designed for use on
small swinging doors such as access panels,
plumbing spaces, electric panels, or hatches
which are infrequently used. They are not
intended for use on cell doors.

$S-1010-1
$S-1010-2

Keyed One Side
Keyed Two Sides

Swing Chart: Specify circled swing number when ordering.

LOCK:
MOUNTING: RH

O

Y s

KEYED: BOTH SIDES
COVER PLATE: HINGE SIDE

LOCK: RH
MOUNTING: AH

e Ok

KEYED: MINGE SI0E
COVER PLATE: HINGE SIDE
LH
LH

LOCK: LH
MOUNTING: RH

L1
o =

KEYED: STOP SIDE
COVER PLATE: IilNé‘.;i H0E

LH

* |Indicates lock mounting/access plate side.

KEYED: BOTH SIDES
COVER PLATE: STOP SIDE

LOCK: LH RH
MOUNTING: LH RH
= 5
KEYED: STOP SIDE
COVER PLATE: STOP SIDE
LOCK: Ll

MOUNTING: LH

H it
i N BN P
®© ®

KEYED: HINGE SIDE
COVIR PLATE: STOP SIDC

LOCK:
MOUNTING:

o ke




Series 1010 Old Style Deadlocks Parts Diagram

1010 Old Style Deadlocks * SS-1010-1 — Keyed One Side * SS-1010-2 — Keyed Two Sides

Item Quantity Description

Per Lock
1 1 Cover Plate
2 1 Case
3 1 Bolt 1/2” Projection
Bolt 1-1/4” Projection
4 1 Lock Cylinder
5 1 Tumbler Set
6 1 Lockbolt Guide Pin
7 1 Lockbolt Stop Pin
8 2 5/32 Roll Pin 3/4”
9 1 10-32 Flat Head machine Screw 1/2”

Right Hand

76760144
76760145

76760128
76760107

96960019
76760109
76760140
76760141
96960001
91917602

Left Hand

76760143
76760146

Price

$224.00
$224.00



Series 1010A New Style Deadlocks are lever
tumbler, mechanical locks designed for use on
small swinging doors such as access panels,
plumbing spaces, electric panels, or hatches
which are infrequently used. They are not
intended for use on cell doors.
SS-1010A-1.....eeeeeeeee Keyed One Side
SS-1010A-2.......ccereenen. Keyed Two Sides

Swing Chart: Specify circled swing number when ordering.

KEYED: BOTH SIDES KEYED: BOTH SIDES

COVER PLATE: HINGE SIDE COVER PLATE: STOP SIDE
LOCK: RH LH LOCK: LH RH
MOUNTING: RH LH MOUNTING: LH RH

= el i e 4
O3 TO ® ®

KEYED: HINGE SI0E KEYED: STOP SIDE

COVER PLATE: HINGE SIDE COVER FLATE: ETOP SIDE
LOCK: RH L LOCK: LI
MOUNTING: RH LI MOUNTING: LH

# H it
oW =0 o H

KEYED; STOP SIDE KEVED: HINGE SIDE
COVER PLATE: HINGE SIDE COVER PLATE: STOP SIDE

LOCK: RH LH
b

LOCK: LH
MOUNTING: RH

oY o

* |ndicates lock mounting/access plate side.

MOUNTING:




@ Lubricate with TrisFlos Lubncant

1010A New Style Deadlocks ¢ SS-1010A-1 — Keyed One Side * SS-1010A-2 — Keyed Two Sides

Item Description

1-9 Key Cylinder «

10 1010A Case Assembly

11 1010A Cover

12 1010A Deadbolt 2" Bolt Projection2

13 1010A Deadbolt 1 74" Bolt Projection2

14 1010A/1017A/1080A Tumbler Sets

15 H TRX TMPRF 10-32 x %"

16 1010A/AM & 1017A/AL/AM Fastener Pkg.
17 Pin, Coil Spring 3/16” x 1 3/8”

Not Shown 4C Paracentric Keeper w/Fastenersa

Not Shown 4CL Paracentric Keeper Switch w/Fastenerss
Notes:

1. Key cylinder type indicated on face of key cylinder. Hand of key cylinder can be determined as follows: 1-way left-hand

(LH) designated on face of cylinder, 1-way

right hand (RH) not marked and 2-way key cylinders are not handed. Key cylinder is determined by the job requirement and

key code assigned to the lock.

2. Bolt projection can be found on lock label, if not visible it can be determined by retracting Deadbolt with key then measure

from the case to end of deadbolt to
obtain the bolt projection.

3. Key code (located on key), Lock type (ex: 1010A), Name of facility and Location are required information to process order

for tumbler set.

Part #
J/R
76761802
96961812
76761806
76761808
76761800
96925130
76769992
96950045
76761794
76761795

4. 4C and 4CL are optional equipment. For information refer to 4C or 4CL product manual.

Price



Series 1010AM

Deadbolts with Mogul Cylinders

Series 1010AM Deadlocks are mogul cylinder, mechanical
locks designed for use on small swinging doors such as access
panels, plumbing spaces, electric panels, or hatches which are
infrequently used. They are not intended for use on cell doors.
SS-1010AM-1............ with Mogul Cylinder

Swing Chart: Specify circled swing number when ordering.

KEYED: HINGE SIDE
GUVER PLATE: ||IN|. L =141 3

LOCK:
MOUNTING: ﬂl-l

T b

EBEYED: STOP SI0E
COWVER FLATE HTL‘-F SAE

LOCK: LI-I
MOUNTING:

:L%QSE 3#;:

KEYEL: 5TOF SI0E
COWVER PLATE HINGE SHM

LOCK: LH FIH
MOUNTING: RH

o oh

BEYVED; HINGE ‘-'IE]F
COVER PLATE: Illl Sl

LOCK:
MOUNTING: LH

Er

* Indicates lock mounting/access plate side.




NOTE: The case sub assembly
hos bolt guide pin
riveted to it.

@-Lock bolt pins ond Deadlock caom
/f 8 OR 9

r——""
Lo

LUBRICANT LEGEND

*—LUBRICATE WITH SUPER-STA GREASE NO.2 MULTIPURPOSE LITHIUM GREASE.
@-APPROVED PETROLEUM BASED LUBRICANT (DO NOT USE GRAPHITE OR
SILICON LUBRICANT) SOUTHERN STEEL #96963520.



1010AM Deadbolts with Mogul Cylinders (Continued)

ltem Description Part # Price
1 1010AM Case Sub-Assembly 76761820
2 1010AM Case W/O Cyl. Hole Sub-Assy 76761822
3 1010AM Cover 96961816
4 1010AM Cover W/O Cylinder Hole 96961817
5 1010AM/1017AM Mogul Cylinder 2601 JIR

6 1010AM/1017AM Cylinder Retainer 76761842
7 Housing Mogul Nut 2-27 76763348
8 1010AM Deadbolt 1/2” Projection: 96961800
9 1010AM Deadbolt 1-1/4” Projection: 76761816
10 1010AM Deadlock Cam 96961804
11 1010AM Deadlock Cam Torsion Spring 96961840
12 FH TORX TMPRF 1/4-20 x 1-5/16” 96925246
13 1010AM & 1017AM Fastener Pkg. 76769992
Not Shown 4C Paracentric Keeper w/Fastenerss 76761794
Not Shown 4CL Paracentric Keeper Switch w/Fastenerss 76761795
Notes:

1. To order replacement mogul cylinders the following information is required: Key code (located on key), Lock type (ex: 101
DAM), Name of facility and Location.
2. Bolt projection can be found on lock label, if not visible it can-be determined by retracting Deadbolt with key then measure
from the case to end of deadbolt to
obtain the bolt projection.

3. 4C and 4CL are optional equipment. For information refer to 4C or 4CL product manual.



Series 1017 Snaplatches

Series 1017 Snaplatches are lever tumbler, mechanical locks
designed for use on small swinging doors such as for food passes,
observation shutters and other small swinging doors where
snaplatching is desired. Key activated unlatching. Snaplatches
upon closing. They are not intended for use on cell doors.
S$S-1017A.............. Food Pass Lock Paracentric

S$S-1017AM... Food Pass Lock Mogul Cylinder

LOCK: LHSB RHRB LOCK: LHRB

S e

RHSB




_ =2 OCONOOOTPR,WN =

Item Quantity Description Part #

Per Lock
1 Lock Case 76761707
1 Lock Cover 76761730
1 Lock Bolt Standard Bevel 76761718
1 Lock Bolt Pin 76761741
1 Lock Bolt Spring 96961736
1 Tumbler Post 96961743
1 Bolt Slide 76761720
1 Tumbler Set 76761709
1 Bolt Slide Post 76761742

0 2 10-32 FL HD Machine Screw 91917008

1 1 Lock Cylinder 76761163



NOTE: The case sub ossembly hos
boll quide pin riveled to il.

*—Latch bolt pins and tailshaft

8 OR 9

LUBRICANT LEGEND
@-LUBRICATE WITH TRI-FLOW LUBRICANT.
*—LUBRICATE WITH SUPER-STA GREASE NO.2 MULTIPURPOSE LITHIUM GREASE.

76769700 @ REV 3 5/5/2003



Item Description Part # Price

1 1010AM Case Sub-Assembly 76761820
2 1010AM Case WID Cyl. Hole Sub-Assy 76761822
3 1010AM Cover 96961816
4 1010AM Cover WID Cylinder Hole 96961817
5 1010AM/1017AM Mogul Cylinder 2601 J/IR

6 1017AM Cylinder Retainer 76761842
7 Housing Mogul Nut 2-27 76763348
8 1017AM Latch Bolt 5/8” Extended: 76761854
9 1017AM Latch Bolt 1” Extended2 76761856
10 1017AM/AL Latch Bolt Compression Spring 96961871
11 1017AM Cover Shield3 96961865
12 FH TRX TMPRF 1/4-20 X 1-5/16 Long 96925246
13 1010AIAM & 1017A1AM/AL Fastener Pkg. 76769992
14 5/16 Diameter Steel Ball 96903207

Notes:

1. To order replacement mogul cylinders the following information is required: Key code (located on key), Lock type (ex: 1017
AM), Name of facility and Location.

2. Bolt projection can be found on lock label, if not visible it can-be determined by measuring from the case to end of latch
bolt to obtain the bolt extension.

3. Cover Shield not required on 1” extended latch bolt.



Series 1030A Automatic Deadlocks

Series 1030A Deadlocks are door mounted for sliding doors.
Maximum security sliding doors at holding cells, medium-tolow
traffic corridors and cutoff doors. Sliding door normally
requires a Model 1300 Track Set.

Key activated unlocking. Hook bolt snaplocks upon closing.
Final 3/8” of door travel pushes\ plunger pin against door jamb
and deadlocks bolt.

SS-1030A-1...ccooiiiereerereereereeereeees Keyed One Side
SS-1030A-2.......ccccererrrrrerinnns Keyed Both Sides

Sswing Chart: Specify circled swing number when ordering.

KEYED: BOTH SIDES HEYED: BOTH SIDES

COVER PLATE HENGE SI0 COVER PLATE: ST08 SI0E
LOCK: RH LH LOCK: LH RH
MOLMTING: R LH MOLIMTIMNG LH RH

oY %0 | o ¥

* |Indicates lock mounting/access plate side.




8
3

O©COoO~NOOOPEWN =

Quantity
Per Lock
1

1
1
1
1
2
1
1
1
1
3
1
1
1
1
1
1
1
1
3
1
2
1
1
2
1

Description Right Hand
Lock Cover 76760328
Lock Case 76760307
Sliding Bolt 76760334

Lockbolt Post For Tumbler
Lockbolt Post

Lever Cam Post

Lockbolt

Cover Spacer

Tumbler Retainer

Lock Cylinder

FH. MS. 10-32 X 1/2”
Tumbler Set

SK. BH. CS. 1/4-20 X 3/8”
1/4 Lock Washer

Sliding Lockbolt Guide Pin
Roll Pin 3/32 X 1/2”
Lockbolt Spring Pin
Lockbolt Spring

Deadlock Slide Bar

5/16 Flat Washer
Deadbolt Spring

Deadlock Bolt Washer
Deadlock Lever Cam
Deadbolt Spring

Cotter Pin 3/32 X 1
Deadlock Plunger Pin

76760839
76760316
76760323
76760315
76760319
76760309
96960020
91917602
76760336
91915151
92920836
76760340
96960002
76760317
96960337
76760325
92920820
96960335
76760326
96960325
96960336
92921013
76760318

Left Hand

76760329
76760308
76760335

Price



Series 1030AD Deadlocks

Series 1030A Deadlocks are door mounted for sliding doors.
Maximum security sliding doors at holding cells, low traffic
corridors and cutoff doors. Sliding door normally requires a
Model 1300 Track Set.

Key activated locking and unlocking of hook bolt. Does not
shaplock upon closing.

SS-1030AD-1.....cciererrrineneeeens Keyed One Side
S$S-1030AD-2......cccoeeeeeeeeeeeeeen Keyed Both Sides

Swing Chart: Specify circled swing number when ordering.

KEYED: BOTH SIDES KEYED: BOTH SIDES
COVER PLATE: HINGE SIDE COVER PLATE: STOF SIDE
LOCK: LH RH
MOUNTING: LH RH

o D N o

* Indicates lock mounting /faccess plate side.

LOCK: AH
MOUNTIMNG: RH




8
3

O©CoO~NOUOPWN =

Quantity
Per Lock
1

1
1
1
1
2
1
1
1
1
3
1
1
1
1

Description Right Hand
Lock Cover 76760345
Lock Case 76760357
Sliding Bolt 76760372

Lockbolt Post For Tumbler
Lockbolt Post

Lever Cam Post

Lockbolt

Cover Spacer

Tumbler Retainer

Lock Cylinder

FH. MS. 10-32 X 1/2”
Tumbler Set

SK. BH. CS. 1/4-20 X 3/8”
1/4 Lock Washer

Sliding Lockbolt Guide Pin

76760142
76760316
76760374
76760365
76760319
76760309
96960020
91917602
76760359
91915151
92920836
76760340

Left Hand

76760346
76760358
76760373



Series 1060A Combination Spring and
Deadlocks

Series 1060A Deadlocks are door mounted for

swinging doors. For high Security swinging doors where
slamlocking is desired. Use in low traffic passage doors
and holding cells where snaplocking is desired.

Key activated unlocking by half turn. Automatically
snaplocks upon closing. Full turn of the key in the opposite
direction deadlocks the latchbolt.
SS-1060A-1......mmereiiiinnes Keyed One Side
SS-1060A-2.........ccceeeeeeee Keyed Both Sides

Swing Chart: Specify circled swing number when ordering.

KEYED: BOTH SIDES KEYED: BOTH SIDES

COVER PLATE: HIIIG! SIDE COVER PLATE: STOP SIDE
LOCK: nusa LOCK: LHRB nnna
MOUNTING: MOUNTING:  LH

:%ﬁlz j%: e 4:

KEYED: HINGE SIDE KEYED: STOP SIDE

COVER PLATE: HIHBE SIDE COVER FLATE. STOP SIDE
LOCK: RHSB LOCK: LHRB nnns
MOUNTING:  RH MOUNTING:  LH

KEYED: STOP SIDE KEYED HINGE SIDE

COVER PLATE: HINGE SIDE COVER PLATE: STOP SIDE
LOCK: LHRB FIHREI LOCK: RHSB LHSB
MOUNTING: |MOUNTING: LH

®*l::J*@ 1 . ,[__.

* Indicates lock mounting/access plate side.




8
3

O©COoO~NOUPAWN-=-

Quantity
Per Lock

1
1
1
1
1
1
1
2
1
2
1
1
1
1

Description Right Hand
Cover Plate 76760630
Lock Case 76760607
Lock Bolt Guide

Key Cylinder

Tumbler Set

Tumbler Post

Lockbolt Head 2—-1/2”

5/32 X 3/4” Roll Pin

Lockbolt Post

FL. HD. Mach. Screw 10-32 X 5/8”
FH. MS. 10-32 X 1/2”

Tumbler Set

1/4 Lock Washer

SK. BH. CS. 1/4-20 X 3/8”

76760617
76760633
76760609
76760742
76760624
96960001
76760842
91917603
76760640
96960636
76760623
92920820

Left Hand

76760631
76760608



Series 1060AK Combination Spring and Deadlocks
Series 1060AK Deadlocks are for swinging doors where
slamlocking is desired along wirh the convenience of knob
operation in areas where manual deadlocking with a key is
desired.

Key activated unlocking by halfturn. Automatically snaplocks
upon closing. Full turn of the key in the opposite direction
deadlocks the latchbolt. Knob also retracts the latchbolt
except when deadlocked. One side or two side knob

operation.
SS-1060AK-1.......cccevvrunnene Keyed One Side
SS-1060AK-2.........cccceeu.ue Keyed Both Sides

Swing Chart: Specify circled swing number when ordering.

KEYED: BOTH SIDES KEYED: BOTH SIDES
COVER PLATE: HINB! SIDE GOVER PLATE: STOP SIDE
Loc RHSB LOCK: LHHB RHRB
| MCIUNTiNG RH MOUNTING:
KEYED® HINGE S1DE KEYED: 5TOP SIDE
COVER PLATE' HINGE SIDE COVER PLATE: STOP SIDE
LOCK: RHSB LHSB LOCK: LHRB FIHF!.H
MOUNTING: RH : MOUNTING:
KEYED: 5TOP 5IDE KEYED: HINGE SIDE
COVER PLATE: HINGE SIDE COVER PLATE: 5TOP SIDE
LOCK: LHFIB RHHB LOCK: RHSBE LHSB
MOUNTING: MOUNTING: LH

®*l::1*® 1:3 ,E___

* |ndicates lock mounting/access plate side.




8
3

O©CoONOUPDWN =

Quantity
Per Lock

1
1
1
1
1
1
1
2
1
2
1
1
1
1
1
1
1
1
1
1

Description Right Hand

Cover Plate

Lock Case

Lock Bolt Guide

Key Cylinder

Tumbler Set

Tumbler Post

Lockbolt Head 2—1/2”

5/32 X 3/4” Roll Pin

Lockbolt Post

FL. HD. Mach. Screw 10-32 X 5/8”
Lock Bolt Guide Pin

Tumbler Set

SK. BH. CS. 1/4-20 X 3/8”

1/4 Lock Washer

Shaft~Door Knob Operating Cam
Door Knob Operating

Single Knob Spindle

Single Knob Spindle Disk

Door Knob

Rose For Door Knob

76760681
76760658
76760617
76760633
76760609
76760742
76760624
96960001
76760842
91917603
76760640
96960636
92920820
76760623
76760696
76760698
76760668
76760669
76760684
76760685

Left Hand



Series 1070A Combination Spring and Deadlocks
Series 1070A Deadlocks are for high security swinging
doors where slamlocking is desired.

Key activated unlocking. Automatically snaplocks and
deadlocks upon closing. Latchbolt unlocks with a half turn

of the key.
SS-1070A-1....coeiriirerrns Keyed One Side
SS-1070A-2.......cccceeeerrrnne Keyed Both Sides

Swing Chart: Specify circled swing number when ordering.

KEYED: BOTH SIDES KEYED: BOTH SIDES

COVER PLATE: HINGE SIDE GOVER PLATE: 5TOP SIDE
LOCK: RHSB LHSB LOCK: LHRB RHRB
MOUNTING: RH LH MOUNTING: LH RH
i Y s i Sy e
® % * ®
KEYED: HINGE SIDE KEYED: STOP SIDE
COVER PLATE: HINGE SIDE COVER PLATE: 5TOP SIDE
LOCK: RHSB LHSB LOCK: LHRB RHRB
MOUNTING: RH LH MOUNTING: LH AH
@ % .
REVED, STOP SIDE REVED: HINGE SIDE
COVER PLATE: HINGE SIDE COVER PLATE: STOP SIDE
LOCK: LHRB RHRB LOCK: RHSB LHSB
MOUNTING: RH LH MOUNTING: LH RH

:@)%‘E%Ej&f]@: @LQ*I:II,;J

* Indicates lock mounting/access plate side.




8
3

O©COoO~NOUPAWN-=-

Quantity
Per Lock

1
1
1
1
1
1
1
2
1
2
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

Description Right Hand

Cover Plate

Lock Case

Lock Bolt Guide

Key Cylinder

Tumbler Set

Tumbler Post

Lockbolt Head 3—1/4”

5/32 X 3/4” Roll Pin
Lockbolt Post

FH. Mach. Screw 10-32 X 5/8”
Lock Bolt Guide Pin
Lockbolt Spring

5/16 SAE Washer

Lockbolt Slide LH

Deadlock Cam Pivot Pin
Deadlock Cam

Deadlock Cam Spring
Deadlock Cam Pin
Deadlock Cam Stop
Deadlock Cam Release

1/4 SAE Washer

Spring Retainer Washer
Deadlock Spring Rod
Deadlock Spring

Deadlock Bolt Spring Guide
Deadlock Bolt Head 1-1/4” Reverse Bevel

76760731
76760708
76760717
96960019
76760709
76760742
76760624
96960001
76760839
91917603
76760743
96960636
92920821
76760723
76760740
76760724
76760737
76760738
76760741
760718

920820

760752

760748

960737

760749

760762

Left Hand



Series 1070AK Combination Spring and

Deadlocks

Series 1070AK Deadlocks are for high security swinging
doors where slamlocking is desired along with the
convenience of knob operation in areas where manual
deadlocking with a key is desired.

Automatically snaplocks and deadlocks upon closing.
Knobs unlock with a 1/2 turn of the key. Quarter turn of the
key in the opposite direction deadlocks the knobs. Knob
will retract the latchbolt in both directions, except when
deadlocked.

One side or two knob operation.
SS-1070AK-1.....oceeeeiinenns Keyed One Side
SS-1070AK-2........ccevvveeeees Keyed Both Sides

Swing Chart: Specify circled swing number when ordering.

KEYED: BOTH SIDES
COVER PLATE: STOP SIDE

LOCK: LHRB RHRB
MOUNTING: LH RH

S

KEYED: BOTH SIDES
COVER PLATE: HINGE SIDE
LOCK: RHS
MOUNTING: RH

@*1:3%@:

KEYED: HINGE SIDE
COVER PLATE: HINGE SIDE

LOCK: RHSB LHSB
MOUNTING: RH LH

o wo

KEYED: STOP SIDE
COVER PLATE: STOP SIDE

LOCK: LHRB RHRB
MOUNTING: LH RH

e[ —1a
o

RETED: STOP SIDE
COVER PLATE: HINGE SIDE

LOCK: LHRB RHRB
MOUNTING: RH LH

o o

KEYED: HINGE SIDE
COVER PLATE: STOP SIDE

LOCK: RHSB LHSB
MOUNTING: LH

:(IZ_;\\%I::M

* Indicates lock mounting/access plate side.




]
W = -
bl el
T

------

14 THRU 18

]

_',I.T!T.l" T T

" 2

rd
=

X

T4d b 4

12

b b




Description Right Hand

Key Cylinder 1 J/R

1070A Lock Bolt Assembly LH (LHRB/RHSB)
1070A Lock Bolt Assembly RH (RHRB/LHSB)
Deadlock Actuator 1070A LH (LHRB/RHSB)
Deadlock Actuator 1070A RH (RHRB/LHSB)
1070AK Escutcheon wl Cyl. Hole & Fasteners 32D
1070AK Knob Assy. w/o Cyl. Hole wl Fasteners 32D
1070AK Knob Assy. wl Cyl. Hole & Fasteners 32D
1070ASK Knob Assy. wlo Cyl. Hole wl Fasteners 32D
1070ASK Knob Assy. wl Cyl. Hole & Fasteners 32D
1030AI1030DAI1070A Tumbler Set

1070A Case

1070A Cover

1070A Deadlock Cam

1070A Deadlock Actuator Pin

1070A Latchbolt Spring Bracket

1070A Key Bolt Drive

1070A Knob Bolt Drive

1070AK Knob Cam

1070AK Knob Lock Cam

1070AK Key Cam

1070AK Locking Key Cam

1070A Deadlock Cam Torsion Spring

1070AK Key Cam Torsion Spring

1070A Deadlock Actuator Compression Spring
1070A Latchbolt Compression Spring

1070AK Knob Lock Cam Lever Spring

Pin, Coil Spring 3/16” x 1-3/8” Long

FHMS 10-32 x 1” Long

RHMS 10-32 X 1” Long

1060/1 060KI1 070/1 070Al1 080/1 D80A Fastener PKG.
FHMS 10-32 x 1” Long Undercut SS

Pin Bolt Guide Paracentric 1070A

FHMS 8-32 X 1” Long UNCUT

76761914
76761915
96961902
96961903
76761901
76761902
76761903
76761940
76761941
76761900
96961920
96961922
96961904
76761929
96961924
96961925
96961927
96961906
96961929
96961908
96961931
96961942
96961943
96961941
96961940
96961944
96950045
96917602
96917176
76770230
96917596
76761939
96917549

Left Hand



Series 1080 Old Style Deadlocks

Series 1080 Deadlocks are door mounted for swinging
doors. For swinging cell, corridor, storage room and high
security doors where slamlocking is not required.

Key activated locking and unlocking. Deadlocks in both
locked and unlocked position.
SS-1080-1....coeriiiiiiriinnneens Keyed One Side
S$S-1080-2.......cccvvriiiinnns Keyed Both Sides

Swing Chart: Specify circled swing number when ordering.

IQQQSE 3&,}.51:

KEYED: BOTH SIDES EEYED: BOTH SIDES
COVER PLATE: HINGE SIDE COVER PLATE: 5'“3"’ SIDE
LOCK: LOCK:
MOUMNTING: FIH LI‘I MOUMNTING: LH
EKEYED: HENGE SI0E KEYED: 5TOP SiDE
COVER FLATE: HIMG:F SI0E COVER PLATE: 5-mp ZIDE
LOCK: LOCK:
MOUNTING: MOUNTING: LH HH
COVER PLATE. HINGE SIDE COVER PLATE: STOP SIDE
LOCK: LH HH LOCK: RH
MOUNTING: RH MOUMNTING: LH

7

* |ndicates lock mounting/access plate side.




Item

WN =

= ©O©oo~NO O

Quantity
Per Lock
1
1
1

[ QL N O JE I WL N §

Description Right Hand

Cover Plate RH.
Lock Case RH.

Lockbolt 1/2” Proj. 76760865
Lockbolt 1-1/4” Proj. 76760869
Key Cylinder
Tumbler Set

Lockbolt Guide Pin
Lockbolt Stop Pin
5/32 X 3/4” Roll Pin
Lockbolt Post
FH.MS. 10-32 X 5/8”

76760830
76760805

96960019
76760809
76760840
76760141
96960001
76760839
91917603

Left Hand

76760866
76760870



Series 1080A New Style Deadlocks

Series 1080A Deadlocks are door mounted for swinging
doors. For swinging cell, corridor, storage room and high
security doors where slamlocking is not required.

Key activated locking and unlocking. Deadlocks in both
locked and unlocked position.
SS-1080A-1.......oeemrrrrrreeennn Keyed One Side
SS-1080A-2........ccccmrennnee Keyed Both Sides

Swing Chart: Specify circled swing number when ordering.

KEYED: BOTH SIDLS
COVER PLATE: HINGE SIDE

MOUNTING: FIH

=y :ﬁ:

LOCK: LOCK:
MOUNTING: LH

KEYED: BOTH 5IDES
COVER PLATE STOF' SIDE

=Wy

5

HEYED: HENGE SI0E
COVER PLATE: HIh.I'l"‘F SI0E

oE T

LOCK: LOCK:
MOUNTING: MOUNTING: LH

KEYED: 5TOF SiDE
COVER PLATE E'i'EJF' SIDE

:Jezﬁﬂl_ J&gfi_

KEYED: STOF SIDE
COVER PLATE: HINGE S1DE

IQQQSE 3‘%&.51:

LOCK: LH FI!H LOCK:
MOUNTING: RH MOLUNTING: LH

RH

KEYED: MINGE SB0E
COVER PLATE: STOF SIE

T

4

* |ndicates lock mounting/access plate side.




Item

1
2
3

= OO0 ~NO O b

Quantity
Per Lock
1
1
1

[EE G N |\ R QR L N |

Description Right Hand

Cover Plate RH.

Lock Case RH.

Lockbolt 1/2” Proj. (Non-handed)
Lockbolt 1-1/4” Proj. (Non-handed)
Key Cylinder

Tumbler Set

Lockbolt Guide Pin

Lockbolt Stop Pin

5/32 X 3/4” Roll Pin

Lockbolt Post

FH.MS. 10-32 X 5/8”

76760830
76760805
76761954
76761956
96960019
76760809
76760840
76760141
96960001
76760839
91917603

Left Hand



Series 10500 Institutional Mortise Locks
Designed for minimum and medium security areas
where lever or knob operation is required. Available
in a variety of styles utilizing several deadbolt/
latchbolt combinations.

A variety of functions are available to meet job
requirements. See function charts below.

i

Swing Chart : Compare swing to function listed for lock. Specify circled swing number when Erdering.

ELYED: BOTH 0ES HEYED MMGE SI0E KFYPr ST S0
LOCK; LHRB RHRB LOCK RHSE LHSB LOCK LHRE RHAG
S T INSIDE ) . QUTSIDE . S S
— T2 /‘J: OUTSIE — e — ] /;J-— NSIDE —l\%— — /’I—
- N JUTSIDE e T () = E
@ < @ O < @ ® = = ®

Function 10504 Entry Lock
e={|"]| > Latchbolt operated by lever either side, except
when outside lever is locked by inside thumbturn.
> When outside lever is locked, latchbolt operated by
key outside, lever inside.
Fos > Deadlock actuator.
e Function 10505 Classroom Lock
> Latchbolt operated by lever either side, except when
outside lever is locked by key outside.
- > Lever inside is always active.
Fo5 > Deadlock actuator.

g~ Function 10507 Storeroom or Closet Lock

ﬂ\ i > Latchbolt operated by key outside, lever inside.
r > Lever outside always rigid.

> Deadlock actuator.

Fo7

Function 10509 Apartment, Exit or Toilet Lock
> Latchbolt operated by lever either side except when
= outside lever is locked by key from inside.
> When outside lever is locked, latchbolt is operated
roo by key outside, lever inside.
> Deadlock actuator.

Function 10514 Store Door Lock
> Latchbolt operated by lever either side.
> Deadbolt operated by key both sides.
Modified Store Door Lock
Fi4 > Latchbolt and deadbolt operated by lever
either side.
> Deadbolt operated by key both sides.



Fi8

Function 10516 Deadlock
> Deadbolt is operated by key either side.

Function 10518 Deadlock
> Deadbolt is operated by key from outside.

Function 10519 Privacy, Bedroom or

Bath Lock

> Latchbolt operated by lever either side.

> Deadbolt operated by thumbturn inside,
emergency release outside.

> Lever inside simultaneously operates both bolts.

> No key operation



10504 Institutional Mortsie Locks
Item Description
10500 Case
10500 Anchor Plate
SKFHCS 1/4 - 20 x 3/8
Cover 10500
Guide Bushing Deadlock Actuator
Deadlock Actuator Sub Assy LH
Not Shown Deadlock Actuator sub Assy RH
Stamping 10500 Drive Plate Deadlock Actv.
Mach. Deadlock Cam
Torsion Spring (Latch bolt)
0 Spring Torsion Deadlock Cam
1 Latch Bolt (LHSB/RHRB)
Latch Bolt (RHSB/LHRB)
12 Pin 10500
13 10500 Cam Retraction Latch Bolt
14 10500 Cam Lockout Drive (Knob/lever)
15 Spring Leaf 10500 Knob Locked
16 RH MS 1/4 - 20 x 1/4
17 Cam, Knob Locking Cover Side
Cam, Knob Locking Case Side
18 Bracket Cylinder Locking 10500
19 FHMS 1/4-20x 1/2
20 Spring Torsion 10500 Knob Lock
Not Shown 15/16 Mogul Cone 2” Door
Not Shown Modified Mogul Cone 1 3/4” Door
Not Shown SK SS CPPT 8-32 x 1 3/4 Set Screw

OO WN =

0o~

10505 Institutional Mortsie Locks
Item Description
10500 Case
10500 Anchor Plate
SKFHCS 1/4 -20 x 3/8
Cover 10500
Guide Bushing Deadlock Actuator
Deadlock Actuator Sub Assy LH
Deadlock Actuator sub Assy RH
7 Stamping 10500 Drive Plate Deadlock Actv.
8 Mach. Deadlock Cam
9 Torsion Spring (Latch bolt)
10 Spring Torsion Deadlock Cam
11 Latch Bolt (LHSB/RHRB)
Latch Bolt (RHSB/LHRB)
12 Pin 10500
13 10500 Cam Retraction Latch Bolt
14 10500 Cam Lockout Drive (Knob/lever)
15 Spring Leaf 10500 Knob Locked
16 RH MS 1/4 - 20 x 1/4
17 Cam, Knob Locking Cover Side
Cam, Knob Locking Case Side
18 Bracket Cylinder Locking 10500
19 FH MS 1/4 - 20 x 1/2
20 Spring Torsion 10500 Knob Lock
15/16 Mogul Cone 2” Door
Modified Mogul Cone 1 3/4” Door
10500/10600 Thumb Turn
SK SS CPPT 8-32 x 1 3/4 Set Screw

DO WN =

Part #

76767320
96967116
96914651
96967146
96967256
76767322
76767224
96967118
76767251
96967294
96967285
96967257
96967258
76767302
96967132
96967131
96967290
96917176
96967261
96967259
96967117
96917678
96967286
96963361
96963363
96915547

Part #

76767320
96967116
96914651
96967146
96967256
76767322
76767224
96967118
76767251
96967294
96967285
96967257
96967258
76767302
96967132
96967131
96967290
96917176
96967261
96967259
96967117
96917678
96967286
96963361
96963363
76767334
96915547



10507 Institutional Mortsie Locks
Item Description

10500 Case

10500 Anchor Plate

SKFHCS 1/4 -20 x 3/8

Cover 10500

Guide Bushing Deadlock Actuator
Deadlock Actuator Sub Assy RH 10500
Deadlock Actuator sub Assy LH 10500

NO O WN =

Stamping 10500 Drive Plate Deadlock Actv.

7 Mach. Deadlock Cam

9 Torsion Spring (Latch bolt)

10 Spring Torsion Deadlock Cam

11 Latch Bolt (RHSB/LHRB) 10500
Latch Bolt (LHSB/RHRB) 10500

12 Pin 10500

13 10500 Cam Retraction Latch Bolt

14 Bracket Cylinder Locking 10500

15 FHMS 1/4 -20 x 1/2
15/16 Mogul Cone 2”
Door Modified Mogul Cone 1 3/4” Door
SK SS CPPT 8-32 x 1 3/4 Set Screw

10509 Institutional Mortsie Locks
Item Description

10500 Case

10500 Anchor Plate

SKFHCS 1/4 - 20 x 3/8

Cover 10500

Guide Bushing Deadlock Actuator
Deadlock Actuator Sub Assy LH
Deadlock Actuator sub Assy RH

O WN =

Stamping 10500 Drive Plate Deadlock Actv.

7

8 Mach. Deadlock Cam

9 Torsion Spring (Latch bolt)

10 Spring Torsion Deadlock Cam

11 Latch Bolt (LHSB/RHRB)
Latch Bolt (RHSB/LHRB)

12 Pin 10500

13 10500 Cam Retraction Latch Bolt

14 10500 Cam Lockout Drive (Knob/lever)

15 Spring Leaf 10500 Knob Locked

16 RH MS 1/4 - 20 x 1/4

17 Cam, Knob Locking Cover Side
Cam, Knob Locking Case Side

18 Bracket Cylinder Locking 10500

19 FHMS 1/4-20x 1/2

20 Spring Torsion 10500 Knob Lock
15/16 Mogul Cone 2” Door
Modified Mogul Cone 1 3/4” Door
SK SS CPPT 8-32 x 1 3/4 Set Screw

Part #

76767320
96967116
96914651
96967146
96967256
76767324
76767322
96967118
76767251
96967294
96967285
96967258
96967257
76767302
96967132
96967117
96917678
96963361
96963363
96915547

Part #

76767320
96967116
96914651
96967146
96967256
76767322
76767224
96967118
76767251
96967294
96967285
96967257
96967258
76767302
96967132
96967131
96967290
96917176
96967261
96967259
96967117
96917678
96967286
96963361
96963363
96915547



10514 Institutional Mortsie Locks
Item Description
10500 Case
10500 Anchor Plate
SKFHCS 1/4 -20 x 3/8
Cover 10500
Guide Bushing Deadlock
Square Washer
10500 Non-Deadlock Latch Bolt
(Mach) Deadlock Cam (Latch Bolt) 10500
Torsion Spring (Latch Bolt) 10500
Spring Cantilever Dead Bolt 10500
Latch Bolt (RHSB/LHRB) 10500
Latch Bolt (LHSB/RHRB) 10500
12 10500 Dead Bolt (Anti-Sawing)
13 Spring Torsion Deadlock Dead Bolt
14 10500 Dead Bolt Deadlock Cam
15 Cam, Knob Locking 10500
16 Spring Torsion 10500 Knob Locking
17 Bracket Cylinder Locking 10500
18 RHMS 1/4 - 20 x 1/4
19 FHMS 1/4 - 20 x 1/2
15/16 Mogul Cone 2” Door
Modified Mogul Cone 1 3/4 Door
SKSSCPPT8-32x13/4

_ 2 OCONOOOPRWN =

- O

Part #

76767320
96967116
96914651
96967146
96967256
96920879
96967136
76767251
96967294
96967291
96967258
96767257
76767250
96967293
76767253
96967260
96967286
96967117
96917176
96917678
96963361
96963363
96915547



Series 10600 Institutional Mortise Locks

Designed for minimum and medium security areas where
remote electric or local manual control of lever or knobs
is desired. Door position switch and door closure are
recommended. 204E power transfer hinge is required.

A variety of functions are available to meet job
requirements. See function charts below.

Swing Chart : Specify circled swing number when ordering.

BEYED: BOTH SI0E ®EYED MIMGE SI0F
LOCK: LHRB RHRB LOCK RHSB LH58 [Halw
S S NSIDE
—_— .
T — — - .--:!: OUTSINE = | .-J.-'-J;
f-’d- "-', .",- oy AL LT o = =l
() % = 5 v S &)

YT B ST

OCK LHRE
OUTSIDE .

NSIDE _f._“‘LT::‘\-—‘sa_

H

—

i

AHAR

,J/_\_

54)

7

Function 10601 Lockset

> Latchbolt operated by lever either side, except when
both are locked out.

> Key outside operates latchbolt when both levers are
locked out.

> Deadlock actuator.

> 10601E: Both levers are locked, except when power is
applied.

> 10601EP: Both levers are unlocked, except when power
is applied.

FO1

Function 10604 Lockset

> Latchbolt operated by lever either side, except
when inside lever is locked out.

> Key inside operates latchbolt when inside lever
il is locked out.

: > Lever outside always active.

> Deadlock actuator.

> 10604E: Inside lever is locked, except when
power is applied.

> 10604EP: Inside lever is unlocked, except when
power is applied.

Fo4

Function 10605 Lockset

> Latchbolt operated by lever both sides, except
when locked out.

> Key both sides operates latchbolt when both
levers are locked out.

> Deadlock actuator.

> 10605E: Both levers are locked, except when
power is applied.

> 10605EP: Both levers are unlocked, except when
power is applied.

Fos




F0B

Fo7

Fo8

Function 10606 Lockset

> Latchbolt operated by lever inside, except when
locked out.

> Key outside operates latchbolt.

> Lever outside always rigid.

> Dead lock actuator.

> 10606E: Inside lever is locked, except when power
is applied.

> 10606EP: Inside lever is unlocked, except when
power is applied.

Function 10607 Lockset

> Latchbolt operated by inside lever, except when
locked out.

> Key both sides operates latchbolt.

> Lever outside always rigid.

> Deadlock actuator.

> 10607E: Inside lever is locked, except when power is
applied.

> 10607EP: Inside lever is unlocked, except when
power is applied.power is applied.

Function 10608 Lockset

> Latchbolt operated by lever outside, except when
locked out.

> Key both sides operates latchbolt.

> Lever inside always rigid.

> Deadlock actuator.

> 10608E: Outside lever is locked, except when power
is applied.

> 10608EP: Outside lever is unlocked, except when
power is applied.



10601 Institutional Mortsie Locks

Item
1
2

Description Right Hand
Case 10600

10500 Deadlock Actuator Sub-Assy 76767324
10500 Deadlock Actuator Sub-Assy
Anchor Plate 10500

Bracket Cylinder Locking 10500

Dr. Plate Deadlock Actuator (Stamping)
Switch Assembly 10600

10600 Cam, Retraction Latchbolt
Cover 10500

Cam, Knob Lock Retraction 10600

Pin 10500

(Mach) Deadlock Cam Latchbolt 10500
Latchbolt 10500 96967258
10500 Cam, Knob Locking

Torsion, Spring 10600E, Knob Lock
Torsion, Spring Latchbolt 10500
Torsion, Spring Deadbolt Cam Latchbolt
SKFHCS 1/4 - 20 x 3/8

Solenoid 10600

Roll Pin 1/8 x 3/8

SKBHCS 1/4-20x 1/4

Rubber Grommet

Molex Pin 22 -24 GA.

Molex -Plug

Rubber Grommet

Molex Pin 14 -20 GA.

FHMS 1/4 -20 x 1/4

SK S8 CPPT 8 -32 x 1-3/4 Set Screw
15/16 Mogul Cone 2” Door

Modified Mogul Cone 1-3/4” Door

10605 Institutional Mortsie Locks

Item
1
2

Description

Case 10600

10500 Deadlock Actuator Sub-Assy (RH)
10500 Deadlock Actuator Sub-Assy (LH)
Anchor Plate 10500

Bracket Cylinder Locking 10500

10500 Dr. Plate Deadlock Actuator (Stamping)
Switch Assembly 10600

10600 Cam, Retraction Latchbolt

Cover 10500

Cam, Knob Lock Retraction 10600

Pin 10500

(Mach) Deadlock Cam Latchbolt 10500
Latchbolt (RHSB, LHRB) 10500
Latchbolt (LHSB, RHRB) 10500

10500 Cam, Knob Locking

Torsion, Spring 10600E, Knob Lock
Torsion, Spring Latchbolt 10500

Torsion, Spring Deadbolt Cam Latchbolt
SKFHCS 1/4 - 20 x 3/8

Solenoid 10600

Roll Pin 1/8 x 3/8

SKBHCS 1/4-20x 1/4

Rubber Grommet

76767303

96967116
96967117
96967118
76767327
76767307
96967146
96967138
76767302
76767251

96967260
96967289
96967294
96967285
96914651
96967300
96950021
96915149
96908999
96908598
96908620
96908840
96908600
96917678
96915547
96963361
96963363

Part #

76767303
76767324
76767322
96967116
96967117
96967118
76767327
76767307
96967146
96967138
76767302
76767251
96967258
96967257
96967260
96967289
96967294
96967285
96914651
96967300
96950021
96915149
96908999

Left Hand

76767322

96967257



22
23
24
25
26

Molex Pin 22 - 24 GA.

Molex Plug

Rubber Grommet
Molex Pin 14 20 GA.

FH MS 1/4 - 20 x 1/2

SK SS CPPT 8-32 x 1 3/4 Set Screw
15/16 Mogul Cone 2h Door

Modified Mogul Cone 1 3/4 Door

96908598
96908620
96908840
96908600
96917678
96915547
96963361
96963363



Series 1050SD Solenoid Operated

Electro-Mechanical Gate Locks

The Series 1050SD Gate locks are for swinging and sliding
gates. Standard mounting is for chain link fencing, but may be
modified for other types of gates.

ELECTRIC - Remote switch activates a solenoid which raises an
internal bolt, enabling the gate to be opened. Remains unlocked
until gate is closed, then automatically deadlocks.
MECHANICAL - Bolt may be manually retracted by paracentric
key, and remains retracted until key is returned to the locked
position.

S$S-1050SD-1......cccccccnnnnnnee Keyed One Side
S$S-1050SD-2........ccceeernnee Keyed Both Sides

Swing Chart: Specify circled swing number when ordering.

KEYED: BOTH SIDES KEYED: ONE SIDE

LOCK: L LOCK: L

e | | o B A

KEYED: BOTH SIDES KEYED: OMNE SIDE
LOCHK: RH LH LOCHK: RH LH
= = . 2 S - - N )

Series 1050RD Solenoid Operated

Electro-Mechanical Gate Locks

The Series 1050RD Gate locks are for swinging and sliding
gates. Standard mounting is for chain link fencing, but may be
modified for other types of gates.

ELECTRIC - Remote switch activates a solenoid which raises an
internal bolt, enabling the gate to be opened. Remains unlocked
until gate is closed, then automatically deadlocks.
MECHANICAL - Bolt may be manually retracted by paracentric
key, and remains retracted until key is returned to the locked
position.

SS-1050RD-1......coevrrriiinnes Keyed One Side
SS-1050RD-2......ccovrrrrrnneee Keyed Both Sides

Swing Chart: Specify circled swing number when ordering.

KEYED: BOTH SIDES KEYED: ONE SIDE

LOCK: L LOCK: L

e | | o B A

KEYELD: BOTH SIDES KEYED: OME SIDE

LOCK: RH LH LOCK: RH LH




1050SD Solenoid Operated Electro-Mechanical Locks

Item Description Right Hand Left Hand
1 1050-D Lock Case 76766008 76766009
2 1050/50D RH Lock Cover 76766014 76766015
3 1050-D Wire Harness 76766085
4 1050-D Switch Bracket 96966302 96966303
5 1050-D Driver Rocker 76766072 76766073
6 1050-D DDLK Rocker Support 76766083 76766084
7 1050-D Lock Pin Assy 76766086
8 1050-D Deadlock Rocker 76766082
9 1050-D Spacer 3/8” Wide 76766078
10 1050-D Spacer 1/4” Wide 76766079
11 1050-D Solenoid Pin 76766081
12 RET Ring 96900594
13 RET Ring 96900631
14 Dead Lock Ind. Switch 96905076
15 SKH CS 5/16-18 x 3/8 96914201
16 SKFH CS 8-32x 1 96914532
17 SKH SHS 1/4 10-24 x 1 96915886
18 HH CS 1/4-20 x 1/2, Zinc Plate 96916152
19 2-56 x 1/2 Pan HD Screw 96918047
20 Z HLN 1/4-20 Nylon Insert 96920635
21 External Washer 5/16 96920852
22 Cotter Pin 3/32 x 1 96921013
23 FH TRX TMPRF 5/16-18 x 3/4 Zinc 96925350
24 SLFLK SPR TSPN 3/16 Dia. Roll Pin 1 3/8 Lg. 96950045
25 3/32 x 1-1/2 Dia Roll Pin ZP 96950035
26 1050D Lock Bolt Guide 96966002 96966003
27 1050D Solenoid Bracket 96966004 96966005
28 1050D Rocker Hold 96966006
29 1050D Torsion Spring 96966008 96966009
30 Torsn Spring 96900647 96900648
31 Solenoid Cont. Duty 96960540
32 Wire Nut 96908950
33 Adhesive Back Mount 96909014
34 Tie Wrap 96909016
35 SKBH CS 8-32 x 3/8 96915027
36 SKH CS 1/4-20 x 3/8 96914151
37 Int Ext Lock Washer 1/4 Zinc 96920855
38 Rubber Grommet 96908993
39 Term. Ring #8 16/14 Wire 96908976
40 SKBH CS 8-32 x 1/4 96915026
41 Lock Washer #8 96920833
42 LNK WSHR 22 GA Mild Steel 96950000
43 SAE Washer 1/4 96920820
44 1050-D Lock Cover Gasket 76766087

45 SAE Washer #8 96920817



